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This Question Booklet consists of Parts namely : '

(1) Grammar 40 Marks
(2) Vocabulary 40 Marks
(3) Prose and Poem 20 Marks
(4) Education Psychology, Education 30 Marks
Evaluation and Assessment, Pedagogy,
Teaching Attitude
(5) General Hindi 10 Marks
(6) General Knowledge of Computer 05 Marks
(7) General Knowledge 05 Marks

All questions are compulsory.
In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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PART - 01
Grarhmar

‘Owing to ill-luck, he met with a bad
accident on the eve of his examination’.
Choose the most appropriate

transformation of the above simple

sentence to compound sentence.

(A) On the eve of his examination, he
met thh a bad acc1dent owing to
llll—luck

(B) It was the eve of h1s exammatmn
when he met with a bad acadent
owmg to his 1ll—luck

(C) He met with a bad acc1dent owing
to ill-luck, on the eve of his
examination.

(D) He was unlucky and therefore met
with a bad accident on the eve of
his examination.

‘Alas that youth should pass away !’

Choose the most appropriate
transformation of the above exclamatory
sentence into assertive sentence without
changing the meaning of the sentence.

(A) Youth should pass away.
(B) Itis sad to think:that youth should
pass away. -

(C) Should youth pass away.
(D) Youth passes away. -

(i)  Thehammer and sickle is flying over
the Communist Party Office.

(ii) The hammer and the sickle together
forms the symbol of the Communist

Party.

(i) Bread and butter is the main

concern of the common man.

(iv) Bread and butter has gone up in

price.

Choose the sentences in which the subject
and verb agreement is correct according
to the meaning of the sentences. (notional
concord)

(A) All are correct
(B) Only (i) and (iii) are correct
(C) Only (ii) and (iv) are correct

(D) Only (i), (i) and (iii) are correct

He is the boy who broke the window.

The underlined clause in the above
sentence is :

(A) A noun clause
(B) Adjective clause
(C) Relative clause

(D) Non-finite clause

SPACE FOR ROUGH WORK / 1% &td & ol s
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Identify the most appropriate choice that

expresses the following sentence in

indirect speech.

He says, ‘I am glad to be here this

-evening’.

(A) He says that-he was glad to be there
that evening.

(B) - He says fhat he is glad to be there
that evening. -

(C) He says he is glad to be here this
evening. ’

(D) He says he is glad to be here that

evening.

‘When can their glory fade ?’

Choose the most appropriate
transformation of the above interrogative
senterice into assertive sentence without
changing the meaning of the sentence.
(A) Their glory can ever fade.

(B) Glory never fades.

(C) Their glory can never fade.

(D)‘ Their glory faded.

I am writing letters.

Which of the following sentences
correctly transforms the above sentence

in the progressive form of the perfect ?

(A) 1 have had written letters from
morning.
(B) Letters have been written since

morning.

(€) Thave been writing letters since ten
O’clock this morning,

(D) I have written letters since ten
O'clock this morning.

“A man’s modesty is in inverse
proportion to his ignorance”.

Choose  the 'most appropriate
transformation of the above simple
sentence to complex sentence.

(A) A man’s modesty and his ignorance
are inversely proportipnate

(B) The more ignorant a man is, the less
modest he is

(C) A man’s modesty is not in direct
proportion to his ignorance

(D) A manis ignorant, he is less modest

SPACE FOR ROUGH WORK / T% & & ol e
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10.

11.

(i) Mary was trembling and was
gltltching my hand.

(i) Mary was terrified and ‘Was

. clutching my hand. -

Choose the underlined word 'was' in the

above senféhces which can normally be
ellipsed. '

(A) Only in sentence (i),
(B) Only in sentence (ii)
(C) In both the sentences
(D)“ None of the ai?()’{(e B

That you should say so surprises me.

In the above sentence the inolun' clause is :
(A) The object of the verb

(B) The subject of the verb

©) The ’complevmentk of the verb

(D) None of the above

Select the option that best expresses the

following sentence in active form.
I remember being taken to the zoo.

(A) Iremember them to take me to the

200.

(B) 1 temember they to take me to the “

200. -

(C) I remember them taking me to the
Z00. .

(D) Iremember they were taking me to

'the zoo.

12.

13.

‘It is proclaimed that all men found with
arms will be shot.’

Choose  the
transformation of the above complex

most  appropriate

sentence to simple sentence.

(A) According to the proclamation all
men found with arms will be shot.

(B) The proclamation said that all men
found with arms will be shot.

(C) The proclamation said that all men
who are found with arms will be
shot.

(D) The proclamation said that if a man
is found with arms will be shot.

‘We must eat or we cannot live’.

Choose the most

transformation of the above compound

appropriate
sentence to sim_pie sentence. -

(A) We must eat so that we may live.
(B) We must eat, we will live.

(C) We must eat to live.

(D) We must eat otherwise we cannot
live.

SPACE FOR ROUGH WORK / 7% @Td & ol s
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14. ’Assoon as he got the telegram, he left in 16. Choose the sentence that incorrectly uses
a taxi’. the main clause in the conditional
sentence.
Choose the most appropriate : . 1 ok
transformation of the above complex (4) 1 yvou Wanf tolose weight you
should eat less bread.
sentence to compound sentence.
(B) If you want to lose weight you had
(A) No sooner he got the telegram than better eat less bread. -
he left in a taxi. (C) If youwant to lose weight eat less
(B) The moment he got the telegram, he bread.
left in a taxi. (D) If you want to lose weight you
should have been eaten less bread.
(C) He leftin a taxi when he got the
telegram.
v 17. Insert a suitable article from the given
(D) He got the telegram, and choices.
immediately he left in a taxi. s __ French live in France, and
____ Portugese in Portugal.
(A) The ......... . the
15. (i) “O my love is a red, red rose” (B) A o~
(i) She has a heart of stone (@ The ... a
(i) I'll leave you in Robin’s capable (D)= Nome'of the above*
hands
18. Choose the incorrect sentences.
(iv) He hared down the street .
(i)  He is taller than me.
Choose the most appropriate figure of (i) Heis talier'man L
in all the ) IR
speech used in all the above sentences (i) These books are for you and L.
(A) Simile (iv) These books are for you and me.
(B) Metaphor (A) Only (i) and (iii) ar? correct
(B) Only (ii) and (iv) are correct
(C) Alliteration (C) None of .tl;le( ‘é-bove
(D) Hyperbole (D) All are correct
SPACE FOR ROUGH WORK / T & & fead sog
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19.

20.

(D) “Yes, I supposé Tneed to”

You ought to put in central heating.

Which is the r‘nbstﬁappfopri‘,éite ‘ar\ls'Wer to

the above remark ?
(A) Yes, I stipposet shotild

(B)  Yes, I suppose Lought to

':u! ) ‘:r_z‘.v

" (©) Yes, Isuppose I shall

tg

)

“ ,Gmndfather’g Private Zoo is a wonderful
book by Ruskin Bond'.

Choosé  the “'most

transformation -of the above assertive

appropriate

sentence into exclamatory sentence
without changing the meaning of the
sentence. | |

ronElw g
A e v

(A) What a wonderful book

Grandfather's. Private. Zoo of Ruskin-

Bondis! .. ..

(B) O, Gra"’rzdfd’tvl}zei":’fgwlP?ivéte Zo0 is a
© - wonderful book by Ruskin Bond !

(C) How  wonderful a ‘book
) Gmndfnther s Pmmte Zoo by Ruskm
“Bondis! v ‘

(D) None of the above .. .

21.

22,

23.

Pick out the finite verb in the given

sentence.

They stood up to salute the unfurling

o Natlonal Flag

(A) Salute
_(B)  Unfurling
(C) Stood

+ (D)., None of the above

Cats catchmice. and dogs catch mice
@ ‘ (i)

Choose the correct answer regardmg

elhpse of the underhned portions in the

above sentence.

(A) Only'()

(B)  Only (i)

(C) Both (i) and (11)
(D) None of the above

Insert a suitable preposition from the
given options to complete the following

sentence.

He became, personal assistant
the Managing Director.

(A) by
(B) to
(C) with
(D) for

0129/ TE-ENG/RCE-E
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‘The lion was wounded but not killed’.

24, 26. Select the correct alternative to complete
the following sentence. '
Choose the correct transformation of the
gbove comipound sentence to_complex If you are seriously ill you will have to go
sentence from the transformations given .
. g to__ hospital
below.
(i)  The lion was not killed although he (A) a
was wounded. .
(B) an
(i) Although the lion was wounded, he
was not killed. (C) the
(A) Only (i) is correct
(D) No article
(B) Only (ii) is correct
(C) Both (i) and (ii) are correct
(D) None of the above are correct 27. My father plarmed all these houses and my
@
brother built all these h_ouses.
ii
25. Choose the correct option to complete the ()
following,. 4 i
Choose the underlined portions which
A modest person does not boast can be ellipsed.
his achievement.
(A)  Only (i)
(A) of
(B) Only (ii)
(B) about
. , ,
(D) at (D) None of the above
SPACE FOR ROUGH WORK / T% @& & ol se
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28.

29.

If you study hard, you will pass the

examination.

Which of the following alternatives

" expresses the above sentence in rejected

condition ?

(A) If you studied hard, you would pass
the examination.

(B) If you had studied harder, you
would pass the examination.

(C) If you studied harder, you would
have passed the examination.

(D) If you had studied harder, you

would have passed the

examination.

He began his speeéh nervously, his voice
trembling.

The subject of the non-finite clause in the

above sentence is :
(A) He

(B) Speech

(C) His voice

(D) Trembling

30.

31.

Choose the correct sentence/sentences.
(i) Itis a ten-miles walk.

(i)  Itis 1.5 millimeter in length.

(i) He is senior to me.

(1V) He is senior than me.

(A) Only‘ (i) and (ii) are correct

(B), Only, (i) and (iv) are correct

(C) Only (i) is correct

(D) All are correct

Choose the sentence in which the use of
punctuation is correct (most appropriate)

in the following sentences.

(i)  Soon indeed, it will be only by their
situations that cities can be
distinguished; but theirin Istanbul

is unrivalled.

(i) Soon indeed, it will be only by their
situations that cities can be
distinguished': but theirin Istanbul

is unrivalled.
(A) Only (i) is correct
(B) Only (ii) is correct
(C) Both (i) and (ii) are correct

(D) Both (i) and (ii) are incorrect

SPACE FOR ROUGH WORK / 1% & & ol s
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32.

33,

((B). () and (iv)

Identify the sentences with' non-restrictive

relative clauses.

(i) Theboy who got the top grade was

given a prize.

(i) ~ Theboy, who got the top grade, was
given a prize.

(i) Itisimpossible to find a teacher who
is happy with the facilities of her
school.

(iv) My aunt, who is frightened of
flying, had 'a very unpleasant
experience on’ an:aeroplane

‘recently.

(A) (1) and (iii)

(C) (i) and (iv)
(D) (iii) and (iv)
He left us to pay the bill.-

Choose the sentence in which the
punctuations are correctly used for above
sentence.

(A) He left us to pay the bill.

(B) He left us, to pay the bill.

{(C€) Heleft us — to pay the bill.

(D) He left us; to pay the b111

34.

35.

“The moan of doves in immemotial elms,

And murmuring of innumerable bees”. -

In the above lines the figure of 'spe‘e.c'lvﬁd
used is :

(Choose the most appropriate answer)
(A) Onomatopoeia

(B) Hyperbole

(C) Metonymy

(D) Synecdoche

Choose. the correct option which
transforms the foliowmg sentence into
passive form.

The invigilator was reading out the

mstructions.

(A) The instructions were read by the
invigilator.
.- ot
(B) The instructions were being read
out by the invigilator. -
(C) The instructions had been read put
by the invigilator, =~

(D)  The instructions had been readmg
by the 1nv1g11ator

SPACE FOR ROUGH WORK / & % & ford w17
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36.

37.

38.

Choose the expression which best

expresses the given sentence in direct

»speech‘.

" He called upon'Heaven to witness his

resolve never to steal again.

(A) "So h‘erlk’p“me,yHeaven’! he cried, ‘1

will never steal again’.

(B) He exclaimed, ‘I will never steal

again’!
(C) Hesaid, '] will not steal again!’

(D) He declared, ‘Heaven! I am not
" going to steal again in future’

Even if he is old he is able to do a great

deal of work.

The ahove seritence contains..

(A) ‘:'Adv,é‘r'b clause of comparjson

(B) Adverb clause of supposition or
‘ concession’

(C) Adverb clause of cc;nditio“n

(D). Adverb clause of consequence

In the expression ‘our first apartment’,

first is :
(A) Pre-determiner
(B) Central determiner

(C) Post - determiner

D) None of the abt;vé

39.

40.

Choose .the correct sentence...

(A) 1f you will pay for the bread, I will

pay for meat.

(B) If you will pay for bread, I will pay

for meat.

(C)  If you will pay for bread, 1 will pay
for the meat.

(D) If you will pay.for the bread, I will

pay for the meat.

Which part of the followirlg sentence has

an error ?

To understand English better

(1 @
a good dictionary s necessary.
®) @
A) @)
® @ w
© ©
D) 4

SPACE FOR ROUGH WORK /. rdl & ol S
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Choose the correct meaning of the

PART - 02 44.
Vocabulary Idioms :
k Wear your heart on your sleeves.
41. Choose the most appropriate homonym
to fill in the blank in the sentence given (A) Without any doubt
below. "
‘It was time to hand over the (B) Without any confusion
of power’. v :
. (C) To express freely your emotions
(A) reigns
(B) reins (D) To express in a hesitant manner
(C) Dboth (A) and (B) are correct
(D) None of the above
45. Choose the correct meaning of the
42. Choose the most appropriate antonym of Idioms : ‘
the word “grim’.
(A) dire Tongue and cheek
(B) sinister
. (A) feeling ill
(C) hideous ‘
(D) benign B) feeling delighted
g delg
43. Match the words given in column “A’ () humor not to be taken seriously
- h . - - s, 7 :
wit thglr syhonym gtven m column ’B (D) humor to be taken seriously
Col. (A) Col. (B) '
(a) Dbout i) duﬁgeon
(b) cell (i) match _ _
() deceit (i) deposit 46. Choose the cor;ectly spelled word :
(d) earnest  (iv) trick (A) cleaness
@ (b)) (o) (d .
(A) @) @) Gi) (iv) (B)  greenness
(B) (11) (f) (TV) (?1) (C) happyness
(© @) @) @ @)
(D) (v) (@) (@) @) (D) sinness
SPACE FOR ROUGH WORK / T% &1 & ol <
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47.

48.

49.

Choose the most appropriate one word 50.

substitute for ‘an amusing mistake
somebody makes when they use a word
which sounds similar to the word they
wanted to use, but means something
different’.

(A) onomatopoeia
(B) redundant
(@) pun

(D) malapropism

51.
‘Is everyone here ? Do we have a full
________ 7
Choose the most appropriate homonym
to fill in the blank in the above sentence.
(A) Complement
(B) Compliment
(@) Both (A) and (B) are correct
(D) None of the above 52,

Which of the following is not a synonym
of the word “exhale’ ?

(A) respire

(B) sap
(C) steam
(D) expel

Choose’ the most appropriate one word
substitute for ‘a person who leaves their

country to live in another’.

(A) immigrant
(B) expatriate
(C) emigrant

(D) explorer

Which of the following is not a synonym
of the word “abide” ?

(A) bear
(B) persist
(C) perish

(D) dwell

Choose the most appropriate one word
substitute for ‘a group of people who are
gathered together in a church to Worship
God'".

(A) Emissary
(B) Mourners
(C) Rabble

(D) Congregation

SPACE FOR ROUGH WORK / T T4 & ford <1rg
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Choose the most appropnate homonym

53. Find the correctly spelt word according 56,
© to spelyling' rules. to £ill in the blank in the sentence given
i below.
(A) " truly
"The idea of absolute personal freedom is
s+ (B) entirly an ”
(A) allusion
«(C) hopeing - Hat
(B) illusion it
(D) relive
(C) both (A) and (B) are correct
(D) none of the above
54. According to spelling rules choose the
correct pair of words given below. Fo )
57. Choose the most appropriate one word
(A) allure - alluring substitute for ‘a man or a boy looking,
. ' behaving or soundmg hke a woman ora
(B)  service - servicable . Cgitl”. i il
(A) feminist
(C) glee - gleful
. (B) effeminate
(D) extreme - extremly
(C) lusty _
(D) epicure
55.  Choose the most appropriate antonym of
h ,
the word 1nd1genous 58. Which of the following is not an antonym
: o f th d flush’ ?_
(A) Exotic ... Ot bne word flush 2.
"(A) blanch * "
(B) Congenital
(B) pallor
(C) Aboriginal (C) mean ' : .
(D) Exasperate (D) prochgal
SPACE FOR ROUGH WORK / % & % o e
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59.

60.

62.

Choose the most'apprqpriafe synonym of
the word “gruesome’.

(A) dark
(B) rude
(C) painful
(D) horrible

Choose the correct meaning of Idiom :

Wag the Dog

(A) To remain focus
(B) To be determined
(C) To delineate:

Diversion away from something

(D)

great importance

Choose the most appropriate antonym of

the word ‘reign’.

(A) deteriorate
(B) docile

(C) submit

(D) vanquish

‘' d appreciate it if you could be
i _ about this; we're keeping it
quiet until the details are'fi.nallis‘edi’.
Choose the most appropfiate homonym
to fill in the blank in the above sentence.

(A) discreet
(B) discrete
(C) both (A) and (B) are correct:

(D)

none of the above '

63.

64.

(i)  In words of more than one syllable
(eg. ‘profit’) the final consonant is
not doubled before a suffix
beginning with a consonant.

The final consonant is not doubled
before a suffix if the stress is on the
first syllable of the verb and if it
endsin‘-al’, ‘-el’ or‘il’. (eg. equal’).
According to spelling rules choose the
most appropriate answer regarding the
above statements.

(A) Both (i) and (ii) are correct

(B) Only (i) is correct

(C) Only (ii) is correct

(D) None of the above are correct

Select the correct meaning of the Idiom.

To drive some one up the wall.

(A) To irritate someone

(B) To confuse someone

(C) To take someone for drive
(D) To make someone happy

"SPACE FOR ROUGH WORK / T &t fod s
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(Direction for Q. nos. 65 - 68) :

The assault on the purity of the
environment is the price that we pay for many
of the benefits of modern technology. For the
advantages of automotive transportation we
pay a price in smog-induced diseases; for the
powerful effects of new insecticides, we pay a
price in dwind'ling wildlife and disturbances
in the relations of living things and their
surroundings, for nuclear power, we risk the
biological hazards of radiation. By increasing
agricultural production with fertilizers, we
increase water pollution.

The highly developed nations of the world
are not the immediate beneficiaries of the good
that technology can do, they are also the first
victims of the environmental diseases, that
technology breeds. In the past the
environmental effects which accompanied
technological progress were restricted to a small
place and relatively a short time. The new
hazards are neither local nor brief. Modern air
pollution covers the vast areas of continents.
Radioactive fall out from nuclear explosions is
worldwide. Radioactive pollutants now on the
earth’s surface will be found there for
generations. |
65. Select the correct option.

By increasing agricultural production

with fertilizers we increase what type of

pollution. :

(A) Sound Pollution

(B) Air Pollution

(C) Water Pollution

(D) Industrial Pollution

66.

67.

68.

Choose the correct option.

The passage emphasises that modern
technology is :

(A) s totally avoidable .
(B) has created serious hazards to life

(C) has greater effects on developed

countries

(D) is the source of the nu series of
mankind

Choose the correct option.

The effects: of modern

technologies are :

harmful

(A) Widespread but short lived
(B) Widespread and long lasting
(C) Local and long lasting

(D) Severe but short lived

Select the correct option.

The Radioactive pollutants on the Earth
Surface has severe effects on human as
well as wildlife.

(A) No effects
(B) Little effect
(C) No serious effects

(D) Has greater effects

SPACE FOR ROUGH WORK / % T % foril s
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69. Imustadmit that my parents stood by me ~ 72. Select the correct match of the given word

in my times of ; (meaning).

(A) Passion Corpulent

: A) Flesh
(B) Involvement ) &
B) Thin

(

(
(C)mstzees-. (C) Stout
(

(D) Criticism D) Bony

73. P: standing up for their rights

70. My father was too ____to push
open the heavy door. Q: the rebellion may be slow and
! ,_ sporadic
(A) timid ' : ‘
R: youngsters become the unlikely
(B) faint heroes;
(C) feeble | S: butitis happening as
(D) faltering (A) QSRP
(B) PRSQ
, (C) PSQR
71. P: It is his native country after (D) QRSP

travelling in foreign lands
Q: (difficult to believe -
74. Select the most effective word from the
R: that any man be so given options and fill in the blanks to

. : make sentence meaningful.
S: spiritually dead as to have no love

for The two sisters lookso. that
it is difficult to tell one from the other.
A) S
(4) SPQR (A) same
(B) QSRP (B) similar
(C) SPRQ (C) identical

SPACE FOR ROUGH WORK / T &1 & {o/& sg
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75. Choose the correct match of the given 78.

word.

Gnarled

(A) Weak and bent

(B) Wrinkled and dark
(C) Rough and twisted
(D) Swollen and hard

76. Choose the correct match of the given

word.
Sauntering
(A) Jogging
. . 79.
(B)  Brisk walking
(C) Travelling
(D) Strolling
77. P: merely managing chaos and little or
the deluge in Mumbai showed that
R: nothoughthas gone into upgrading
the city
80.

S: Successive State Governments have
been

(A) QSPR
(B) PRQS
(C) QRPS
(D) PSQR

I realised that

P

Q
Rz
S

but seeing my host in this mood
I deemed it proper to take leave
As 1 had ;fi-equehﬂy done before

It had been my intention to pass the

= night there

(A)
(B)

©)
(D)

QPSR
QRPS

SPOR

SRPQ

Rohit behaves strangely at times and

therefore nobody gets _ . with

him.
(A)
(B)
©.
(D)

about
through

along

i

Select the correct match of the word.

(A)
(B)

©

(D) -

Indolent -

Cautious

Lazy =

Unintelligent

Stubborn -
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PART =03
- ..Prose and-Poem

(Direction for Q. nos. 81,-,90) :. .

Soil scientist have shown that the soil
feems with millions of hvmg thmgs, many of
them useful; others harmful. The living things
which are useful include ¢arthworms and
various kinds of bacteria. Earthworms loosen
the soil and so enable air and water to enter it.
Bacteria, which are microscopic livitig things
breakdown dead plants and animals and make
humus, or take n1trogen from the air and
change it into substances that:plants use.

The living things that do harm include
other bacteria and fungi which cause diseases.
Other harmful things are pests such as wire
. worms which feed on theroots of:grass and
other plants. While the farmer can usually keep
weeds in check by careful cultivation, this alone
may not protect his crops from insects, pests
and diseases. Now-a-days, however, he is much
better able to control these enemies. He may
plant specially resistant types of seeds or he may
keep the pests and diseases:.in dheck with
chemicals. With better seeds farmers have been
able to increase their crop yields. They can
grow crops that ripen ore ‘quickly’and have a

stronger resistance to diseases, frost or drought.

81. The meaning of thé word “teem’ is :
(A) unloosen
(B) filled w1th
() decrease
(

D) separate

82.

83.

84.

85.

86.

Scientist who study soil believe that :

(A) all insects and bacteria are harmful

(B) only microscopic living things are
useful

(C) only earthworms are useful

(D) not all worms and bacteria are
harmful

The living things that do harm :

(A) breakdown plants and animals
(B) use up the rutrogen from the air
(C)v cause dlseases in the plants

(D) loosenup the soil from air and water

The farmers today can also select seeds :
(A) of slow ripening variety.

(B) for economy in Cbétg;. V

(C) resistant to frost and drought.

(D) of lower resistance to disease.

Farmers are always careful :

(A) to control insects and fungi that
attack plants. |

(B) to encourage pests in the soil.

(C) to eliminate all bacteria from the
soil.

(D) to foster all kinds of worms in the
earth. :

Earthworms :

(A) loosen the soil and enable air and
water to enter.

(B) are pests that harm crops.

(C) are harmful to the soil.

(D) are enemies of farmers.
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87. Now-a-days, it is possible to reduce the
loss caused by pests and harmful bacteria.
(A) with the use of fertilizers.
(B) ‘through the development -of
resistant seeds. -
(C) by using weeds as killers.
(D) by chtroll_:ing earthworms.
88. The antonyms of .the word “yield” are :
(A) bring forth, harvest
(B)  restrict, impede -
(C) output, profit
(D) produce, turnout
89. Humus is made by the :
(A) nitrogen in the air
(B) Dbacteria and fungi
(C) roots of grass
(D) breakdown of dead plants and
animals
90. Wire worms are living things which :
(A) hélp in the growth of plants.
(B) are useful bacteria.
(C) feed on plants and roots of grass.
(D) protects the crops from diseases.
(Direction for Q. nos. 91 - 100) : Read the
poem”“OnThisIsland” and answer the questions

by choosing the correct and the best alternative.

On This Island
Look, stranger, on this island now
The leaping light for your delight discovers,
Stand stable here
And silent be,
That though the channels of the ear
May wander like a river
The swaying sound of the sea.

Here at the small field’s ending pause

Where the chalk wall falls to the foam and its
tall ledges

Oppose the pluck

And knock the tide,

And the shingle scrambles after the sucking surf,
And the gull lodges

A moment on its sheer side

Far off like, floating seeds the ships

Diverge on urgent voluntary errands,

And the full view

Indeed may enter

And move in memory as now these clouds do,

That pass the harbour mirror

And all the summer through the water saunter.
W.H. Auden

91. In the second stanza the poet asks the

stranger.

(A) To move leisurely
(B) To be silent

(C) To take a full view
(D)

D) To pause at the ending of the small

field

92. Identify the figure of speech in the
expression “harbour mirror”. -

(A) Simile

(B) Metaphor
(C) Alliteration
(D) Pun
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93.

94.

95.

96.

97.

The poem “On This Island” is about :
(A) A stranger

(B) An Island
(C) A coastal scene
(D) Nature

“Shingle scrambles sucking surf”

(stanza 2 line 5) and “move ..... memory”
(stanza 3 line 5) are examples of :

)

alliteration

(B) mixed metaphor
(C) simile
(D) synedoc

Name the verse pattern that has been

used to give ease and fluency to the

poem.

(A) lambic meter
(B) Trochee

(C) Free verse
(D) Anapest

Identify the figure of speech in the
expression “knock of the tide” :

(A) Alliteration

(B) Onomatopoeia
(C) Irony

(D) Paradox

The third stanza presents a perspective
in which we obtain.

(
i

i) a cinematographic description

g

i) a more open-ended view

(iii) an over-all view
(iv) all of the above
(A) @)

(B) (i) and (ii)

(C) (i) and (iii)

(D) (iv)

98.

99.

100.

1277

The repetitions of the "1
light”, “delight”) in the second line of the

o

first stanza and the “s

sound (“leaping

sound in the last
line of the same stanza (“swaying sound”,

llseall)

(i) Help in creating the hushed
atmosphere of the scene

(i) Makes the language urban
(iiiy Give a musical effect

(iv) None of the above

(A) (@) and (iv)

(B) (i) and (iv)

(C) (i) and (iii)

(D)  (iii) and (1v)

Auden asks the stranger to look at the

scene of the island primarily for :

(A) The pleasure of the onlooker
‘(B) To know the island closely
(&) To establish new business
(D) None of the above

The first stanza presents :

(A) the development

(B) an exposition
(C) complication
(D) conclusion
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PART - 04
Education Psychology,
Education Evaluation and

~Assessment, Pedagogy,
Teaching Attitude

101. Why should teacher ask question while
teaching ?

(A) With the helpof qﬁestidﬁé teacher

can explain’ the leéSon to students

(B) By asking questions teacher can

seek attention

(C) Spend time by asking questions

(D) Teavc'her_can remove fear from
students by asking questions

102. Which one of the following is not the
objectives of teaching environmental
studies ?

(A) To develop the sensitivity in
students towards the protection of

: environment, . ..
(B) Memorise the basic concept of
environmental studies
(C) Todevelop skill like observation and
classification in students

(D) Develop alertness in students
- towards the real causes of

environmental problem

UM - 04

viferer e, e o steree

sifugfa

101. R W forer = 7 g =y 2

(A) 991 T Fer ¥ forers 9o auge o
Tornfeil =1 T8N I Y T

(B) el F wem W fe fenfef
AT SRR T R

(©) 97 Yo foerk 39999 foan ge
Tl |

(D) ¥ Yo o foenfeidi & w1 &
9 frshret T T

102, Fr=Aferfee o 9 = a1 gt steem freor
T T TE § 7

(A)  Toenfear + wafeger e & afa gagm
faenfea =)

(B) TATERYT ST St Heiud STauRonai
CaRCACE

(C) Torenfefdl # svereion ok anffar SR
19Tl 1 ferere e |

(D) vEfaReita qaErsil % St Sl
o ufct foramfefai & Sk Seq= e |
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103.

104.

The basic difference between the
formative and summative evaluation is
that :

(A) The test paper for formative
evaluation is prepared by the
subject teacher whereas the
summative test is set by external

agency .

(B) The formative evaluation is
oriented towards the improvement
in teaching learning process
whereas summative evaluation 1s
focused on certification of student’s

performance

(C) Formative tests are based on
observation technique whereas
summative evaluation is paper

pencil test

(D) None of the above

The personality of an individual is :

(A) a psychological term for his
character

(B) adynamicand a continuous process
(C) a fixed state of one’s behaviour

D) a
psychologists

concept developed by

103. GCETEE SR ARTCTS HEAih § e T

T

(A) TCEAERS qeET w1 TerT faw
fersh S § SteifeR AT Hedish
1 T T S T AR B T

(B) HIHATH® HeAHH, famr- st
wiEan § gER W RHET B ¢ S
T g 1 Seyd faene %
¥ <Rl FATTOR T Brell |

(©) HrETes T S gfatd W

AT B € SR AT i
JoR-Yfer Terr 2 |
(D) SR & HIE & .
. e Ao w1 SR

(A) SEF =fel % fag o wdT
NEAE R

(B) ok TRt iR W W

(C) % =R i T fAfte oveeen §

(D) A g foshfaq T STEuren
7
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105. What do you conclude from the
statement ?

105. Tr=ifena Fom 9 9T 9 & -

“Teacher must have the knowledge of “oife Faam & et fvers Wi & R A
John, before he teaches Latin” ' IH BT =fEe
(A) Teacher must have a sympathetic (A) w7 & fau forers #1 gfesia
attitude for John TRl BT =feT
(B) Knowledge of psychology is (B) wwreremedt fRveror-stferm ufshar % Ry
essential for effective teaching- AT 1 T v B |
learning process
(C) Teacher must handle individual (C) Toerr g1 eafermTa feaneli 1 wam
difference with great care. ' Y I@1 S =Iey
(D) None of the above (D) SUU § hIE el
106. The main aim of remedial teaching is : 106. ITARTHE o1 1 T@ 29 ¢ -
(A) Maintain discipline in the class (A) e H STRIEH ST TG |
(B) Rectify the learning difficulty of a (B) Torneff wt drem # &1 W wfew &
student HER T '
(C) Develop team spirit among the (C) forenfiar o v (39) e w1 frem
students EXGIN
(D) Develop good habits in students (D) Tornfefai & srest etredl =1 forere e |
SPACE FOR ROUGH WORK / T® T8 & ford w7g
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107. Attitude is-a special context towards

108.

109.

(A).

@)

human’s emotions, bias, thoughts etc. is
depicted in holistic way is principle of :

Crow and Crow
(B) Thurston M
©
(D)

Kohler

Daglus

Satya gets 38 items tight on a group test

“of intelligence.” You want to convert this

into her mental age. What additional

information would you seek ?
Satya’s chronological age
(B) her IQ

©
(D)

a table of norms for the test

her school grade

Choose the correct option for the

. technical critetia of a Good Test::

P) Validity

(Q) Norms

Z

Acceptability

(
(
(
(S) Standardization
(
(
(

>

) (P) and (Q)
B

~—

‘ Only (R)
Q) (P), R)and (5)
(D) (), (Q) and (R)

107.

108.

109.

“afigfa feet fafre oo & ufa a9=
1 HrerTeH, qeiE, faeml enf = ww g w9
Y yeiid w ¥ T8 A e § 2

T wHfEE qfs wem § W 38 $W
TE § | 79 T A Tl AR 31§ R
KT AT € | 379 R AR STehrd) =e 2

A) T w5 e ey
391 1Q (Ffg wifeu)

) wRieror & ferg e il e
D) 3HH ARE UE

0 3

(
(
(
(

I AL I TEAIR RNl F Hag o
Suger fased T T RIS

P)

(B) e (R) .
(C) (P), (R) R (S)
(P), (Q) 3R (R)
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110. Evaluation is a

___ process. 110. HHHT TH iR §i

(A) Developmental | (A) TowmmERHF:
(B) Continuous (B) W

(C) Regular | : () frafaa
(D) Discontinuous (D) wfvsy

111. In pre-primary classes reading aloud 111. & Wt wHensil # foem & qry-arg oK

while writing is given importance. This ¥ et W Hed T S ¥ g% Wem %
is based on which theory of learning ? e fagrma W e 2

(A) Theory of conditioning (A) FIgFHed w1 fag

(B) Trial and Error Theory (B) W™ 3R Ife #1 fagra

(C) Insight : Gestallt Theory (C) SRR : Tewe i fagm

(D) Field theory of Kurt Lewin (D) %< wfed &1 &7 fagr

112. Thought communication in class depends ~ 112. el ¥ forame ST fipe TR Fit e 32

upon :
(A) Potential of Student (A) BT & AREE

(B) Lecture Skill of Teacher (B)  STEATYH <l WTHURHA
(C) Interactions in Class (C) e =t 1= fomansty
(D) Difficulty in Subject (D) oo =} wfeTs
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113.

114.

115.

Accoi‘dir{g to NCF 2005 which one of the

following statement is incorrect ?

(A) Access to quality mathematics

education is the right of every child

(B) Children should learn to, enjoy

mathematics rather than fear it

In mathematic class children should

(©)
pose and solve meaningful problems
(D)

Mathematics should be taught to the
selective students i

Self-report technique of evaluation does
not include’: ‘ '

(A) Questionnaire
(B) .. Discussion
(@) Sociométric technique
(D) Autobiography

What is the most important challenge
infront of teacher ?
Preparing question paper

(B) To make

interesting

teaching process

Convincing students to complete

homework

To maintain discipline in classroom

113.

114.

115,

T T, 2005 F FTER o frefatad § @
HH T H TG 82

(A)  ToTeRTel TR T fe Wi e
AR wedsh S=d I T |

(B) <= IO | ST ST SHH AR
SSMT |

(©) T T SN H s we et
3oTt 3K 3% T H |

(D) Tifore =rafea ferenferal =61 & wgrarn

- Efed

AR 3 - STTerd IR H e e
X

o ST S T T e A
ERIE¥

S S TR L fE 9 ST T
Hi|

(D) A ST T T
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116. If majority of students in your class are

slow learners, you should :

(A) keep your speed of teaching fast so
that students comprehension level
may increase

- (B) not to care about the intelligent

students
(C) keep your teaching slow

keep your teaching slow along with

116. 3% aTaeh! e o sifuespay faened sifirmg

®)

g fereror ==t wfg g @ arfe
foenfifal & Sy & = A gfg @
(B), . Ffgwm fernblan f oI o <

(C) 319 s7eATTs et @

(D) &T9AT STEATIA AT YEd g PN

some extra guidance to bright ferenfeiaf =1 stfafiaa wnteef €7
pupils ’
117. Choose the correct sequence for the steps 117, eI Terr Fafor & Gromi % weof &
of construction of standardized test. ST S HT =G R |
(i)  Preparation () |
(i) Planning of the Test (i) IO T S A
(iii) Evaluation of the Test (i) TR <RT AT
(iv) Final Tryout of the test . (iv) wderor = o yEe
(A) (), (i), (i), (iv) (A) (), (i), (), (v)
(B) (i), (iv), (i), (iii) B) (i), (iv), (ii), (i)
(© (i), (i), (iv), (iii) (C) (i), (@), (iv), (iii)
(D) (i), (i), (i), (iv) (5) (i), @), (i), (iv)
SPACE FOR ROUGH WORK / Tt &t & fordl strg
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118. To maintain discipline in student : 118, SE H TG ST W@ % & :

(A) Adhere to rule and regulation (A) 378 Frael = 9 G
H (B) Ask question: ‘ (B) T W‘l@’ﬁ

(C) Distribute responsibilies (C) TR IEIFaE |

(D) Prohibit them from '}mal{ihg noise (D) TR TR FE T Th

o, E

119. Syllabus can be made more useful 119, WISHHH =1 1R SN Foheeh R ST

“through : I HFAT R ?
(A) Local information (A) TR ElREAL
(B) Indian History (B) WRA % gl
(C) India’s Geographical Knowledge (C) vRa % wrmiferes IH
(D) KﬁoWledge- of .Ir‘\vdi»a’s Culture (D) AR GERfa o JF

120. Which- of the folloWing reports on 120. 9Na ¥ foen & &= ¥ frafafaa @ 59

educational field in India made ‘Learning e 3 ‘frenr T st ' 1 ST FE
without burden’ it's central theme ? fowg (o) w@n?
(A) Secondary Education Commission (A) weafass feren s fd
Report
(B) Acharyé Rammurti Committee (B) e T e Rl
Report '+
(C) Prof. Yashpal Commission Report (C) 9. I iy fe
(D) National Knowledge Commission (D) TS 1 HAEM o
Report "
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121. Why did you choose teaching  121. 39 FEAYA T SHAEE F[ ST ?
occupation ?
(A) Due to peer pressure (A) 9k A & a,gﬁ L
(B) You are interested (B) SR THH o &
(C)  Your parents desired it | (C) o AfY9EE &t % E’@T?ﬁ‘
(D) To get fame (D) IR g1 91 i
122. A teacher believes in Lev Vygotsky’s 122, WWWWW%‘WW
theory of cognitive development.” Which F fogr’ W faveng w@ €1 9% T
of the following method would he prefer faenfefai T AR T %ﬁ{q Fr=fafag
for assessment of his students ? o9 g %lf%T Ed| msquaq‘m %11'[7
(A) Memory Based Questions (A) O snaia g9
(B) Objective Type Que_stions (B) THETS YFR '31'7 EES]
(C) Individual Projects (C) =l RS
(D) Collaborative Projects (D). WedrTeHF IRErsHIY
123. The example of projective technique is : 123. va&rdt fafy =1 [ R
(A) | sentence completion test (A) IR gfd 9E
(B) direct question (B) Y&t U
(C) interview (C) HIRIRR | |
(D) personal diary (D) =afwma R’
SPACE FOR ROUGH WORK / % h1d & fod swrg
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124. The formula for T-score is :

X-M)
o

(A) T=50-10

(X~ M)

e

T =50 +10.

(X-M)
g

T =50+ 14

(X + M)

g

T=50+10

124. T-31% FI A T :

(X = M)

o

T=50-10

(A)

(X-M)
a

T=>50+10

(B)

(X=M)
o)

Q) T=50+14

(X+M)

g

T=>50+10

(D)

125. A teacher can inhance effective learning 125. U foerh e § yumel st LR
in his ciass:by - TR
C (A Impose strict rules upon students (A) Torenfefal o0 =R fira TR T |
(B) Regular repetltlon of content - (B) fora =g = frafa EEER
(C) Giving -priority to students’ © ferenfefaii < srereit SR SR Rl
experiences and their participation 1 T SR
(D) Create competition among students (D) ferenfedi & gftemst vt FH |
126, Choose the correct option for the 126 W%Wmﬁwmﬁ
sequence of cognitive stages of T
development given by Piaget. '
w (i) Pre - operational () ECiSIERIBED
(i) Concrete —‘Operational () F AT
(111) Sensory motor (i) Helfew KRR
, (1y) Formal operational (iv) T ST
(A) (i), @), ), (i) (A) (i), (), (v), (i)
(B)  (iii), (i), (ii), (iv) (B)  (iii), ( ), (id), (iv)
(C) (), (id), (ifi), (iv) (Q) (), (i), (i), (iv)
(D) (it ) (111) ( ) (iv) (D) (i), (i), (@), (iv)
" SPACE FOR ROUGH WORK / T ol & fod sme
\

0129/ TE-ENG/RCE-E

31

Set - A



127. Subjective observation is called :

(A) introspection

(B) experiment

(C) super observation

(D) practical behaviour

128. Errors made by students during process
of learning are important because :

(A) it is important for ranking the
students in a class

(B) it is a tool to classify the students
into groups of passed and failed

(C) provides an insight towards the
students behaviour and help to
identify the problem

(D) areimportant tool for classifying the
students into low achiever and high

achiever groups

127. SRR ST FEelm ¢ :
(A) TRy
(B) B

(©)  TH-STEIH

128, Forenfo g7 e = s 3 7 o1 AR

(A) e & faenfefat wr goit # st ¥ fo
HEEqU €|

(B) ferenfefli #t el o ereiol g
A F Tecqul YR T

(C) foemefl & =@ER & Ui <RI UGH
T & SR gEe S veer § oo
F T

(D) faenfeial =+t %7 syafed R s=9
SuEfed AT el | Sied % e
ITFT
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129. Which of the following interpretations
would be correct about diaghostic tests

in education ?

(A) They reveal students’ errors for

corrective instruction

(B) They are meant for locating lapses

in the teaching process

(C) They help in eliminating selection
of undeserving pupils

(D) They guide teacher in selecting

relevant test material

130. Usage of model graph and diagram in
classrooms make communication

interesting : i o
(A) Sometimes

(B) N everA

(C) Everytjmg

(D) Generally

129. firen ¥ FreERTs weo S ey d = H |
FH T FATI FE T ?

(A) A GURKES SRvA % forg ferenfeai
1 Ffeal I gHe FA S

(B)  Foeror s g e #) wfi e
% fere = e €

(C) 3 g fornfelal &% == @l Ut ®
Hergs B T

(D) SugeR Te g & WA H e
T AT F § |

130, & F whEE Yate aun S
[EIWOT ] & GUTE] S © ?

(A) wf-wmeft
B ol
(C) W

(D)  sfeeRi:

SPACE FOR ROUGH WORK / T &Td & ol s
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HIT-05- - L. 133, Freiferdd A e {aw T, Had

T i A E 2
WFSTC\"TM - A)
| | (B) =
131. Freffafan § sgg o 82 © 3
D) *
(A) AR
®) 134. 'FH’ WS B B T @D
(©) oltHe (A)  FTfRT | |
() () R
(C) fa
(D) feeT

132. "I I M T F I8 3 % 9 fu= =8 iR
T 907 B O S H WY 8 s g1
PR R wRr A S g2 ‘

E THEE 135. ‘HE 9% H UG HF g’ A H g
fowfem w9 FRF S? |

(A) @ = HY
(A) HIY FHH
(B) YU &R HiYy |
(B) T HWH
) T = (C) STIRH wNH
(D) I =R Gy : (D) & wREF

 SPACE FOR ROUGH WORK / T & % ferd g
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136. Frefefas o & Sondw feags o 139, Frefafen weel 7 | fead fowt @ @2
T =TI IS |

(A) TH HH FHIA (A) T
(B) TH FIE HH FHICl B
(C) T FIE HT FIE@ T (B) TSI

(D) ST H IS T |

(C) ®=a
137. FFg oTEsR A ST 9189 R s
1 IhY e ST © 2 _ (D) #iqs
(A) TdT TAHR
(B) HAfiEH 3TRN
(C) favreTr SFeism 140, wHE FHT THR ¥ R §2
(D) 3T AAFR
(a) 3
138. A HHA-T HIA T ?
B 5
(A) HHgaES
(B) Shfqamereh
© 7
(C) AfRTaT=R
(D) T 9 FIE & (D) T 9 H T

SPACE FOR ROUGH WORK / 1% &1 & ford s
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PART - 06 HIT - 06

General Knowledge of Computer hi2ZY St QAT SAFRRT

141. The virus that spread in appliéa{ioﬁ 141. TEHYE WrRdzl 7 Had arar arawd

software is called as : e FEE B
(A) Boot virus (A) 2 O™

(B) - Macro virud | (B) T TR

(C) Filevirus | (C) RS arE™

(D) Anti virus (D) T= arR"

142. Electronic device which processes data 142, m IYFHLIT S BT Sl THT T Bkl

and convert it into information that is H SEed & S o & feq I BT ®
useful to peopvl‘e Vlf“s.called e FEA T

(A) Computer (A) HEII

(B) Smart»phone | N (B) iR ®m

(C) Calculator . (C) Hepar

(D) Printer ‘ (D) Tfue

SPACE FOR ROUGH WORK / T% &1d & it siig

Set - A 36 0129/ TE-ENG/RCE-E



143. Which have the largest memory storing 143. 3M<lhel fafean g9 9 fegent 9ad a1 99rt

capacity from optical media group ? I e & 2 '
(A) DVD-RW (A) DVD-RW
(B) DVD - ROM (B) DVD - ROM
(C) Blu-Ray (C) Blu - Ray
(D) DVD - RAM (D) DVD - RAM

144. Which file format can be added to a 144, ST UER W OH ®F W R ‘FRﬁE e

PowerPoint show ? ST @ 2

(A) .gif (A) gif

(B) jrg (B)  Jjrg

Q) .wav (©) .wav
(D) all of above (D) SRR

145. The layer between the hardware and the 145. S S I W™ F 9 HT WA

user programis __ . I g1

(A) Operating Environment (A) ST T
(B) System Environment (B) WW
(C) Operating System (C) efen fawy
(D) None of these (D) THH aﬁ’sc &t

SPACE FOR ROUGH WORK / T% &1 & f&d g
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PART - 07

General Knowledge

146. Which of the following is the No. 1 bank
in India ?

(A)
(B)
(©

(D)

State Bank of India
Central Bank of India
Punjab National Bank

ICICI Bank

T - 07
[rar=r {

146. Trerfafag § 9@ A- qRA ST A, 1 SFH T2

() IR W2 o

(B) Wz S oAk gfear
(OEREEENEGR-Ca

(D) TSR o773, 9318, dh

147. In which of the following year this state 147. frefafaa 9 9 f5g 9d 1 9 w0 fafew
was included in the British empire ? qwsy o gitafera fear mar ?
(A) 1818 A.D. (A) 1818 3.
(B) 1830 A.D. (B) 1830 %.
(C) 1854 A.D. (C) 1854 3.
(D) 1862 A.D. (D) 1862 3.
148. In which part of the Indian Constitution 148. U gy & f=fafad § @ feg wm o
the Fundamental Duties are included ? LGl e wfmfad feg o €2
(A) Partll-B (A) FTIL-sff
(B) PartIV-A (B) wFIV-T
(C) Partll-D (C) I - &
(D) PartV-C (D) Y9V -
SPACE FOR ROUGH WORK / T% & & ol g
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149. Which of the following is the largest hot 149. Taetafea & 9 S W%I‘\"éf T oY FE IV

desert in the world ? TEEIT B 7

(A) Namib Desert (A) A TeR

(B) Atacama Desert (B) TR HeE]
(C) Sahara Desert , (C) HeRI A%
(D) Gobi Desert (D) Tl HEwered

150. Who of the following was the political 150. ﬂ%TEQTTﬂ?ﬁﬁ Ilﬁ:ilfa%“ “Iﬁ’ﬁﬂﬁf@ﬁﬁﬁ

‘guru’ of Mahatma Gandhi ? HIF 97

(A) Gopal Krishna Gokhale (A) TR T itet

(B) Surendra Nath Banerji (B) {L= Y EECile

(C) Bal Gangadhar Tilak (C) o TR faetsd

(D) Smt. Annie Besant (D) Aot T S
-o00o0- -00o0-

SPACE FOR ROUGH WORK / T &7 & o sfTe. -

0129/ TE-ENG/RCE-E 39 Set - A



1v3as

| SET - A
S SifeRd T T W ;3 e } { rfersRan 37ek : 150
Time for marking answers : 3 Hours Maximum Marks : 150
M
1. 9 V- § e e e
1) R 40 &
(2) Y= |meA 40 &%
(3) RIS U g _ 20
(4) Hfern wifara, foan # stieer wo e, Rreorere, S sifigta 30 &%
(5) T fedt | . 10 &%
(6) T T WA AN 05 37
(7) HHREFH 05 &k

TEF T 1 HF 1 Fel 150 T HE A ¢ |
2. U ¥ W, & T OMR IH-TE (ArEwEie) W fwa wif)
3. TroRt SO SifeRd T O 1/4 3eh e WA
4. fwd oft @ ¥ Forpee A @ I9e U9 AT B H FE At g
5

OMR ST-¥i1Z (ToReiie) =1 W w3 e T i Sremur 7 w1/ o foad 78 e S a0
T e 1 faerae onfe yg W o werasd 9% TE o 9 |

Note :

1.  This Question Booklet consists of Parts namely :
(1) Grammar ' 40 Marks
(2) Vocabulary 40 Marks
(3) Prose and Poem 20 Marks
(4) Education Psychology, Education Evaluation and Assessment, 30 Marks

Pedagogy, Teaching Attitude

(5) General Hindi _ ) 10 Marks
(6) General Knowledge of Computer 05 Marks
(7) General Knowledge 05 Marks

Each question carries 1 mark. All 150 questions are compulsory.

2.  Indicate your answers on the OMR Answer-Sheet provided.

3. 1/4 mark will be deducted for each wrong Answer.

4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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